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The concept of nrYaaw >3 210 o is discussed at length in
27y 7 77 %2 'on. Originally, witnesses would come to n»a
17 to testify about the appearance of the new moon and
the judges would pronounce the new month.
Subsequently, a series of fires were lit on top of
mountains to indicate to the whole country that it is now
wIn wxa. However, after this process was interrupted by
the oom> we had to adapt the process of informing
everyone. Therefore, %7 decided to send out
messengers to the whole country. The problem was that
it was impossible for these messengers to reach the entire
country on that day of proclamation. This left many
cities in doubt as to when wmin wxa was. On an average
month, void of major holidays, this did not have too
much of an impact, but when it came to the months of
»wn and o071 this was a big deal. Due to the rule of xp»so
xImIn% x>k, these people were forced to keep 2 days
of v7v on both no» and n1>w. Nowadays, despite the fact
that we have the set calendar of %7, we have held onto
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this aman of our forefathers and we continue to observe
two days of vy.
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The relationship between these 2 days of v7v is quite
intriguing. We find that there is a question amongst the
oox1Iaxy ooxan as to whether these 2 days of vy are
deemed as having "nnx nwitp" or "mwrp onw". What
exactly do these terms mean? 1w~ explains that " awy1p
nnx" means that the o>»on established that even in niva we
should keep the second day ppon and that these two days
should be treated as one long day. From this we can
imply that "nmwp >nw" means that it is more of an
artificial relationship simply based on our continued
observance of the xmn established by our max and are
therefore viewed as being two separate days. Rav
Schachter x7vbw pointed out based on the really 2a7x:
there is no reason that we would have to be =°»nn for this
poo in the first place since, as we see from x”y 1 q7,
majority of the time the months of %1%x and =x were
never full months. This should have established a strong
enough a1 to determine the day of wwin wxa and
therefore the correct day for all of the holidays. He
explained based on this why we don’t find that we are
nnn for two days of >v. If it was a real poo we’d have

X a7 a"y 77 axa
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no choice but to be =+nn» everywhere. Therefore, the
question boils down to whether this extra n7opn was just
a "xwr amim or a omon nipn when they were o7y wpn
mx1. We see that »»wn links nnx nwitp with being a nipn
o'mon which implies that the a>»an couldn’t have made it
nmwip 2. However the question is - why not? Rav
Schachter xv°%w explains according to >vwn that x nwyTp’
is the result of both days being treated as wiip. Therefore,
since there is nothing that distinguishes them from one
another they are seen as being one long day. Whereas,
nwip snw implies that one is for sure wyp and one is %1n
and therefore they can’t possibly be connected and are
treated as two separate days. If the o'non established a 171
to keep both days it’s logical to assume that they would
have equated the nwyip of the 2 days. Rav Schachter
x"vbw used this to explain the who holds that 3o7amy
even though v~ naw are mwtp ‘2 we for sure consider
571 naw as nnx awtp. The mwn an explains that the
split is simple: since o7 naw have the same o»™o°x SO
they are therefore considered to be nnx nwyp. Whereas
regarding v~ naw we know that there are differences
between them, like the 173x 2> on vy, and therefore are
treated as mwp 2.

A"ty Py ol
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The xam3 brings many nio%n that are dependent on
whether we view the 2 days as nnx nwyp Or mwiTp "nw.
The first is on 27y 7 717. The 'n3 presents a debate between
»ox 7 and xa1 regarding the status of an egg on the second
day of v~y if it was laid the day before. xa1 holds that if it
was laid on the first day so then it’s 9nm on the 2" day
while »ox ~ argues that it would be mwox on the 2" day.
The xma suggests that the 'n» depends on whether we
view the 2 days as nnx nwitp or mwiip “nw. If they are
nnx mw1p So then the m1o°x of the egg on the day that it is
laid continues to be mox into the 2" day since they are
considered to be one long day. However, if they are
treated as mwp *nw, since we are poon as to which day
is the real v~v, we can 1°n» the egg as follows: if the first
day is v so then the second day is really % and
thereby the o»1o°x of the first day no longer apply and if
the 2" day is v”» so then the first day was really »n and
there should be no issue with the egg in the first place.

We find that mwp *nw presents other ni»p as well. On 1
273 we learn from a»onx that it’s anmn to use a medication
to take care of an eye pain on the 2" day of “v”r. The
basis for this 3> is from the fact that we hold that the
egg that was laid on the first day of v~ is amm» on the
second day of v7v. The onwxa discuss different reasons
why this is true, but the consensus of many of them is

v DOIWRN2 IR
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that it’s because the 2" day of v7» is more lenient than
the first day. The question is what does this
manifestation of mwyp *nw have to do with the anon of
the egg on 7 77? Based on the 7o of the 27>x1 quoted by
Jvow 1 it all makes sense(essentially *15wip 1inx 297 ¥/
embellishing on this 7o°). He explains that up until 27> 77
we could have understood that the status of being nwp
nnx and mwrtp >nw merely determines whether we can
apply the 17»» of one day being w17 and one day being
% in order to be Yp>»n. However, from am»nx we learn that
these nm7an actually teach us about the relationship
between the two days which inevitably will lead to some
mp. Accordingly, nnx mwitp means that the two days
are treated as one day with 48 hours and therefore there
is no reason to treat the 2" day any differently than the
first. Whereas nwip »nw means that these are two
separate days that have no bearing on one another. Once
this is the understanding of nnx nwitp and mwrp *nw we
can link up all of the various m%p that they present us
with.

DNIWYITP /21 /R IWITP2 0720771 hLw .3

The o7am holds ns%3% like both =m»»x and xa3 which
implies that he holds that the 2 days of v are treated as

X '0 7R " nawn n"w 2
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nmwp *nw. The problem is that there is another case in
n¥a ‘om that depends on nnx nwiTp vs. mwp *nw and yet
the o7am holds like the 7% of nnx nwytp in that case. In
the context of p%awn »21y on v 77, the xIm3 quotes xa1
who teaches us that if one forgot to make an p%wan 21y
on v~ 27y he can still make one on the 1 day of v~ for
the 2" day of v as long as he makes a certain
stipulation. »»w~ explains that the stipulation is as
follows: if today is v so then tomorrow is not v7v and
therefore there’s no need for an p%wan 21y anyways;
and if today is not v7» and tomorrow is v”» so then
there’s no problem with setting up an y%wan 21y today
for tomorrow. We can even suggest that x21 is 1nwwb,
being that he holds both days of v~y should be treated as
nmwtp snw we can therefore use this x%p. If the o7amn
held nwp °>nw on 7 77 and 27> 77 one would have
expected him to hold like xa1 here by the 7 of 21w
7wan, yet we find that he does not.

The ®o7amy thinks that this rule of x2v was only true
before we had the set calendar, when we had a real poo as
to when v~y was. This is because during that period of
time there was a real poo regarding the days of v~y which
led to certain m¥p based on the fact that we knew that
only one of the two days were really wmp. However,
nowadays with the set calendar it would be =ox since we
don’t have that poo and we know which day(s) are wp.

Yo 7 e o 8
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The 797ax7 argues that even though what the oramn is
saying is true, nonetheless, we don’t find that the ooaxa
and onwxa are ponm within this rule between before and
after the set calendar. Also, nowadays the 2nd day is for
sure %1 so we actually have more reason to be %p>». The
n7n% asks that this ruling of the o7ama is not just
unprecedented, but it is also a contradiction to his ruling
about the egg that was laid on the first day of v~ since
one of the days are v, and in that case he is not p%nn
between before and after the establishment of a set
calender. The 81 already asks this question on the o7am.
In other words, we find that the o~am»n typically holds that
we view the 2 days of v as mwp °nw, so if this 17 of
x21 is also dependent on mwtp *nw why would the o7am
suddenly not agree with it?

Rav Chaim Soloveitchik zt”1° comes to defend the o~ama
and explains that there are really two perspectives
regarding the relationship of the two days of wvv.
Concerning the effect of one day on the next we are
forced to view both of them in doubt whether they are
wnp or . However, regarding the status of each day
individually we view each of them as being wp. The

ow ’
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reason for the split is as follows. When %711 established
that we should keep two days of w7 they weren’t
instituting a new rule that we had to keep two days of
v~v, rather, as a result of a poo we had no choice but to
keep two days and we continued to keep this amin despite
the fact that we became knowledgeable in the exact time
of v7v. The set calendar, however, did change one aspect
of our observance of the two days of v”. Regarding a
law that is assessed on an individual day basis, then, and
only then, do we view each day as being wiip. For
example, both the status of the ainn on a particular day of
vy and the ability to make an p%wan 21°v on v”y are
judged by the nature of that day alone and not in
conjunction with the following day. Therefore,
specifically by those o7 did the o7ama feel that there
was a difference between pre and post establishment of
the set calendar. Whereas, by all of the other o>»=, such
as the egg and pain medication on the 2" day, the oam
treats the days as a poo just like the pre-calendar era.

This insight of Rav Chaim helps us to really understand
the root of the relationship of between these two days of
v~ according to the o~ama. In order to complete this idea,
though, we’ll need to understand one more point. The
05727 refers to the establishment of keeping two days of
v7y as both a amn as well as being o>1910 *127m. How s it

xR 0" on 10
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possible to be both? The 'a7anm elaborates a bit further
and explains that the %7 nipn was that we should
continue to observe the amm» of our nax by observing 2
days of w». The Brisker Rav!? connects these two
n~ann’s together and explains that really according to the
o7amn the second day of v~y is simply a amn, but n
came along and made a mpn that we should keep that
smn. If we combine this Brisker Rav with the wyrn of
Rav Chaim | think the following understanding emerges.
One could look at institution of keeping the two days of
vy in one of two ways: either that 57mn established that
really both days are xn> 17 7071 70 or that the first day of
v71 IS ’xn»1RTn 7071 10 and the second day is a 131277 replica
of that 1% day. Perhaps, we could suggest, according to
Rav Chaim and the Brisker Rav, the o7am1 understands
like the second approach and therefore the 2™ day can
exist as both a amm and a mpn. When one looks at the
days individually he will see one xn»mx7 day and one
11277 day. However, when he looks at them together and
how they affect one another so then he’ll see them as
being equally pooa as a result of the original amm.

| believe that this may help us to understand a troubling
mwn . The mwn T regarding the o7am’s
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understanding of we1 %21 is that any nox%» that primarily
does not involve working with food, such as writing,
building and weaving, will not be permitted on v~» even
in a situation that they are being used to deal with food.
The only n1ox%n» that are permitted to be done with food
are those that typically deal with food. Based on this
explanation we will be stuck in understanding the an
mwn’s explanation of the o7ana’s leniency by taking the
medication for the eye pain on -»w vy (i.e. the 7 of
nx cited above). The o7ama understands the leniency of
T mx to take the medication for a pain in the eye is even
true if one is not sick and merely has pain. The mwn
ow picks up on this and explains that the o7am
understands that the =non is based on "muin nxin". The
concept of auan nxan is typically understood by the oonwxa
to be an extension of the leniency of . The Pwo1 Yo
problem is that the 2°:35 maw ‘% o7ama holds that the
medication of pyn nx 3%, is an issue of the mox%» of
m2na. So then according to how the n”» explained the
o7ann by 11x, how could he explain that there is a an° of
Pyn nx ino% based on imx, that’s against his rule!
However, based on our explanation of the o7am»1 based on
Rav Chaim and the Brisker Rav it all makes sense. Since
the o~amn understands that the second day of v7v is made
by the 7321 to resemble to 1% day of v~ the 1321 can set up
the rules of the day as they see fit. One such example is
that they expanded the rules of 1x. Whereas on the
xn>x7 day the anon of 17x only allows for miox%n» that
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typically involve dealing with food, the 13277 day allows
for any nox%n to be done as long as it is right now being
used for the purpose of woi %21x. The 2" day, according
to the o7amn, is not just a day of m¥ip, rather, it’s a 713217
day of vy patterned after the xn>»1x7 day.



